In an isosceles triangle ABC, with AB = AC, the bisectors qf ZB and ZC intersecy each
other at O. Join 4 io O. Show that : (i) OB = OC (ii) OA bisect ZA.
In AABC, AD is the perpendicular bisector of BC (see Fig. 5.111). Show that A4 is
an isosceles triangle in which 4B = AC.

. ABC is an isosceles triangle in which altitudes BE and CE are drawn to equal sides AC
- and 4B respectively (see Fig. 5.112). Show that these altitudes are equal.

.. ABC is a triangle in which altitudes BE and CF to sides AC and 4B are eqyy
| (see Fig. 5.113) . Show that

(1) AABE = AACF

(i) AB = AC, i.e., ABC is an isosceles triangle.
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Fig. 5.111 Fig. 5.112 Fig. 5.113
ABC and DBC are two isosceles triangles on the same base BC (see Fig. 5.114). Show
that ZABD = ZACD. ‘ L s g

AABC is an isosceles triangle in which 4B = 4¢ Side BA is pr -
. : that
AD = AB (see Fig. 5.115). Show that Z/BCD 1sari produced to D such

ght angle.
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Fig. 5.114 C
Fig. 5.115
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Which of the following is not a congruence rule for two triangles?
(a) SAS (h) S5 (¢) RIS (d) SSS

It is given that AABC o AFDIE, A = 5¢m, /1 = 407 and ZA = 80”, which of the
following is true?

(a) DIF= 5 cm, ZI" = 60° (h) DC =5 cm, £LE = 60°
(¢) DE=5cm, ZF = 60° (d) DE =5 cm, £D = 40°

In AABC and ADEEF, ZA = 2D, ZB = ZF and AB = DI, then are the two triangles
congruent? I yes, by which congruency criterion?

(a) Yes, by AAS (b)) NO (¢) Yes, by ASA (d) Yes, by RHS
InAPQR, ZR = ZP, QR = 4 ¢m and PR = 5 ¢m. Then the Iength of PQ is
(¢) 4 cm (M) 5cm (¢) 2cm (d) 2.5 cm

IfAB = QR, BC = RP and CA = PQ, then
(a) APQR = ABCA (b) ABAC = ARPQ (¢) ACBA = APRQ(d) AABC = APQR
INAABC, AB = AC and £B = 50°. The £2C is cqual to

(a) 50° (b) 40° (¢) 130° (d) 80°

In AABC, BC = AB and £B = 80°, Then £A is equal to

(a) 50° (H) 100° (c) 80° (d) 40°

D is a point on the side BC of a AABC such that AD bisects ZBAC. Then
(a) BD=CD (b) BA > BD (c) BD > BA (d) CD>CA

Two sides of a triangle are of lengths 5 cm and 1.5 cm. The Iength of the third side of
the triangle cannot be

(a) 3.6 cm (b) 3.8 cm (¢) 4.1 cm (d) 3.4 cm
In APQR if ZR > £Q, then
(a) OR > PR (b) PQ > PR (c) PO <PR (d) OR < PR

. Intriangles ABC and DEF, AB=FD and £4 = ZD. The two triangles will be congruent

by SAS axiom if

(@) BC=EF (h) AC=DE (¢) BC=DE (d) AC=EF

If AABC = APQR and AABC is not congruent to ARPQ, then which of the following is
not true:

(a) BC=PQ (h) OR = BC (c) AC=PR (d) AB=PQ
- In triangles ABC and POR, AB = AC, £C = ZP and £B = £Q. The two triangles
are
(a) isosceles but not congruent (b) isosceles and congruent
(¢) congruent but not isosceles (d) neither congruent nor isosceles
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